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TS FR1&(mm) = BEE
HEZS 1818 x 1818 %X 121 (6R x 6 R X 4~)[12& (%)3H
2[EE& 1212x 1818 X 121 (4R X6 R X 4~1)|26& (Z)%A
IEE 909 x 1818 x 121 (3R X 6R x 451345 (%)3H
A=) 606 X 1818x 121 (2R xR x4~D)|21& (Z)%A
5| & 909 % 1212x 121 (3R x4R X 4~)|45 (%)3H
6| & 909x909x 121 (3R x3R x41)2& (Z)%A
11FEE (ER)A 1212 X 1818 X 121 25 (%)3H
8| & (£R)B 1212 %1118 X 121 25 (Z)%A
IFZEE(ER) 727 X 1818 (6R) 104 (%)3H
10|HZER(ERE) 727 X 121 (4R) 102 (2)3
MFAZERGEE) 727 X 909 (SR 104 (%)3H
12(fAE R (B E) 515X 1818 (6R) 104K (%)% H
13[FAZSR (R E) 515X 1212 (4R) 104 (%)3H
14[BAZ R (B E) 515 X 909 (3R) 104K (%)% H
1578 5% (K) 303 X 515 X 182 651& (%)3H
16|78 5 (/IV) 303 x 333 x 182 601E (Z)%HA
17[ K& 91 x 91 x 303 (BR x 3R x4t [701# (%)3H
18|BAA/NRIL (BRA) JL— [848x1818 104 (%)3H
19|BHAA/ SR IL (FRE) JL— [848x1212 4t (%)3H
20|BhAAH/ARIL (BRA)  FJL— [848x909 4t (%)% H
2| BAA /AR L (FRE) SJL— [636%1818 104 (%)3H
22|l AR NI (RRA)  FJL— [636x1212 4t (%)% H
23| BAA/ AR (RREFA)  JL— [636X%909 4t (%)3H
24| BARH NI (FEEF) S L— [424x1818 104% (%)FFH
25|BAA /N IL (FEEF) JL— [303x1818 104 (%)3H
26|BhAAH /AL (FEER) JL— [424x1212 41 (2)FFH
27|BAA/ SR (FEER)  JL— [424x909 4% (Z)&H
28|BhAAH /AR (FEER)  JL— [303x1212 41 (2)FFH
29[BAA /AR (FEEF) 4 L— 1303 %909 41 (%)3H
30|BhAAH/NRIL (KREF) JL— [212x1818 1044 (%)% FH
[BIAA/IRIL(NIBER) JL— 11818 X121 103 (%)3H
32| BhARHINRIL (NABEEF) FL— (1212121 215 (2)FFH
3| BIAA /AR (ANIBEER) JL— [909% 121 28 (Z)&H
34[ AT T A H=1818 (6/2) 257K (Z)%&A
35| AFIIT B H=2727 (OR) 157K (%)3H
B|AFITHELY FHY 13kg 1012 (%)% H
37| A 2424 x 754 (6Hh) 23 (Z)&H
8|S EFAEMME (IR, %) 700 X 750 21 (%)% H
39| RMH 545 X 1800 20%% (%)3H
40(FEFE A 1720 X 3636 (W = 2R8) 158 (Z)%&HA
41|18 (9°L-) 15000 % 7000 24
42| E & (T4) 878 x 24000 27K (Z)FRH
43| £ & (34 878 X 9000 1028 (%)3H
44| E 84 (T4) 878 x 3600 1028 (Z)FH
45| 8 300 X 300 X 1500 44 (%)3FH
46(H<YEH A (TE H=1511%K% 12 (400 X 1200) 18 (Z)%&HA
47|H<YE B (fErf) H=1511#&4%1 2 (240 x 1400) 2& (%)3FH
48[EHE (/M) (H)1212 x (W) 1818 118
49|21 (1]v) (H)1212x (W)1818 158
50{5IE S (R—X£) (W)965 % (D) 1090 X (H) 150 158 (%)3&H
51|55 (LEf5) (W)965 X (D)965 x (H)150 18 (%)3H
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TS FH4#& (mm) = BEE
S2[{EiEEEm S (W) 760 X (D) 520 18 (%)3H
SIEEHEEmE (—HkA) (W)518 X (D) 343 935 (%)3kFH
S4EEEEmMAE (FIEZRA) (W)510 x (D) 360 106 (%)3H
55[FTOE (W)1212 % (D) 1515 % (H) 150 18 (Z)%A
56| S/ B F H=630~900 9N (%)3H
571lE7/ AL D—274 18
58|E7 /5+ ANYF /RLYY 25/28
50|E7/#BF (FLYY) RUEA 25 (Z)%A
60[;EE (W) 1200 % (H)1100 % (D) 600 18
61;EE (FEF) (W)1130 % (D)550 x (H)850° 1040 [1& (Z)%A
62|FEE (W)650 % (H)1100 % (D)500 18
63|t (W)500 x (H)750 % (D)500 18
64| =Hl (H) (W)1800 X (D)50 108
65| R4l (FL—KE) (W)2100 x (D) 600 % (H) 700 35
66|15F () Y= S50
67| BN 2l 900 X 1800(+ 30) 20%%
68| AE= (W) 10800 X (H)6300 154 25kg
69| a—t v E (i) (W) 2200 x (H)9000 5 (%)3H
70|KL—J = (E) (W) 1800 X (H) 1800 14 (%)3H
T1|KL—T = (F) (W) 2700 x (H)2700 245 (%)% H
72|FKL—T = (G) (W) 3600 X (H)3600 28 (%)3H
73|FL—TJ %= (H) (W) 4500 x (H)5000 245 (%)% FH
T4 RE—DI Y DF—STAR 18 (%)3H
I5|IRSGATARTI Y (Bkw X 2[AER) (R JL— A B—F 94 LSl |25 (Z)%HA
76| FEMEEY  (1E%) SARIL— (W)1212 X (H) 212 X (D)303 45 (%)3H
T7|FEPSER (%) SARIL— (W)1212 X (H) 424 x (D)606 45 (Z)%H
78| FalgEr  (3E) SARIL— (W)1212 % (H) 636 X (D)909 45 (%)3H




